BR7KEEAA TN\ RIV o

WATERPROOF FLAT SWING HANDLES

#l
AL
&
#
-
#

JAYA 92
avy

©

Hagiaalo

Hoshimolo

AB-351-1 AB-352-1

*—%5 H200
Key No.

AB-353-1 ¥ # e LEPUSHTLNA—HRBATZ217TY
haad Featre o AN (LENOEEILL DL AUELER
EL TS

® The lever can be opened/closed by
pressing the push-button on the top.

@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

#  H e@$pE{% (ZDC)

FEMNE e YFF/hyOLDHOE

H i# e FLEME -5 ER- -7 Dth&EBOX
fii £ e+—%%S 'H200

Material @ Zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use @ Power/distribution boards, control
I boards, various boxes

Remarks @ Key No./H200

HARMODIEDHEEFF AR IS FBABELED % [#RABH LR

/@/@ DEHEHBEHRLET

w7

i =[EE@E A B | ¥ @
@ \) U Product No. Remarks Weight Lot Price
& AB-351-1 AN 264 40 ¥1,800
AB-351-2 SEL 237 40 ¥1,650
AB-352-1 #FE 222 56 ¥1,700
AB-352-2 SEL 197 56 ¥1,500
AB-353-1 AN 180 80 ¥1,550
AB-353-2 FEL 157 80 ¥1,350

21



AWBAKLE

AB-351-1 & with key

AB-351-2 —mwithout key [ 1A §73 .2
94 133 2.M5 x 10 (21) 75 ‘ Dimension of mounting hole avy
32 Bh7K/ Y% /1.0 M5 x 10 L/N—ElERHD
Waterproof packing ‘ Revolving central  2-R4.5
:': 3 position of handle
] , T
T . T
A7 |
||| mErEo0” /,,// I | Is |
I Tun 90 /,,// Y i H g 7] | i 0 | o
' - i | 18 g8 | | [FF
s H&L&:ﬁ/cas } o
Yo / ° -
N L (23) | fj |
/L ({:”“\;, ] Stopper plate pman °o = \
&J /’4' ) mrr.,naJ !
B g © i |
@55) |, H-200%%— 27
(73) T Key No. —
105 26 EAEREE 10.6~2.0mm
: Panel thickness applicable to install
AB-352-1 @—hwith key
AB-352-2 (x—m without key | ENEANS S
) Dimension of mounting hole
94 133 2-M4 x 10 (21)T
80 Bty /1.0 M5 x 10 30‘ L EdEy
Waterproof packing Revolving central  2-R4
B position of handle
™
a N~ B ‘_L,, 3 N
- .7 \ \
A o & T
A&REO I 8 |
I Turn 90° % ‘ O ‘ ©
| 7N w2/ cd6 | 18 29|82
fl\ = 1 ! (St2.3) | i - 0|60 ‘
|| Stopper plate o N
Y ! ES D) |
Bloshimoto , 35 cq-o NS \
N—— ‘
6
I 23 H-200% % — 24
10.5 Key No.
“EAREWREIL 10.6~1.6mm
Panel thickness applicable to install
AB-353-1 &—with key
AB-353-2 —m without key s
- 0 WE R~ i
94 133 -M4 x 1 (21 )T Dimension of mounting hole
28 Rh7k s %> /11.0 M5 x 10 30‘
‘ Waterproof packing L/N—[ElE
T\ 7 C Revolving central
| o) position of handle
=Y . e
- 7 ‘
| e LY ¥ &
El&x /A E90° Ty Il
- Tum 90° (fd e iy
gy S - e ‘
) SRS < Jo 8N
i ‘\ 23 %3 TolhNy !
-\ 1kHE / C-46 ©| \
(t2.3) NI ‘
Stopper plate __E’J__
24
H-200&x—

Key No.
Y EFREAREI. 10.6~1.6mm

Panel thickness applicable to install

22



